1. o ™A x4y o 3= 5ozt
‘



@D 2cm @ 3cm ® 4cm @ 5cm ® 6cm



3. o= I™AA wx, 2y & A7E?

@ zx=30° sy =80° @ /x=30° sy =90°
® zx=30°, Zy = 100° @ /x = 40°, Ly = 80°

® zx = 40°, 1y = 90°



4. o2 28I} Zo] PT 7F Y0 9 ALY o, x 9|
@H2?

D 82 @ 8V3 ® 93
@ 945 ® 10V3
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o2 28T} 2ol «C = 90° Q HZHAt
7tg ABC ol AC 9| Zolg Tt
A2

@ 5sin40° @ 5cos40°
5
5 tan 40° _—
® an @ tan 40°
5 sin 40°

)




ohg 9] BaAAPEE ABCD o4
AB = 6cm , BC = 10em , /BCD =
120° & wj, AC 9] Zo]=?

@ V67 @ 71
® 219 @ /86
® V95



8.

e 2HolA b —a o] F27




g ™A 5.0ptAC
5.0ptBD O]IL /ABC = 17°
o, /AEC 9] 371%?

ne

@® 13° @ 17° ® 21° @ 28° ® 34°



10. & I A AB = 6cm, CD =
12cm©]1l /APB = 25° € off, ,CQD
o] 27|E otH?
D 35° @ 40° ® 50°
@ 55° ® 60°




11. T8 0ABCD 7} € 0 o Y& uf, L0AD o] 2715 Fai?

® 40° @ 42° B 44° @ 46° ® 48°



12. sin(2x-10°) = A, x O] 27 (H, 0° <x<45%)

ol

D 15° @ 20° @ 25° @ 30° ® 35°



13. o 29”7 22 AABC 9] Wol=?

® 3V3 @ 9v3 ® 273
@ 813 ® 2433



14.

the 73] PPAHE ABCD
o] §o]7} 36 V3 & i, PP
& ABCD 9] E¢9] Zo+&?

® 32 @ 34 ® 36
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15. TS 1204l 5.0ptAB = 229 Ao C
=8

7} 16cm ¢l Y] dEoltl AB cm A/-FI\B

0|31 TD 9 @40l fe] F4E At D
wj, TD ¢] Zo]i?

@ (2- V2)em @ (25 -4)cm ® 3cm
@ (8-4+v3)cm ® (6+2V3)em



16. o3 1EelA AR
(T, PA, PB = € 0 9 HA)

®6v3 @ 9Vv3 B 123
@ 18v2  ® 20v2




1
17. tanA =1 ¥ @, (1+sinA) (1 -cosA) + 5 o] Zh29(H, 0° < A <
90°)
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@ 2
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18.

£he 23 o] 1F el 2] A A
SAEF. A Aol A F7] AT Fer] © &
Selt} 2 2to] 60° o], A AN 27 A
el RO 2 12m HoIE B AHAARE @
2fo] Azbgit, 28 BD o Zol7h4V3m
ol 9. 28te] A7} 30° < ), 57 Akl
1z0] T

@ 6V3 (m) @ 16 V3(m)
® 20V3 (m) @ 68V3 (m)
® 70V3 (m)




19. y = —2cos?x +4cosx + 5 7F HZES 7HE o, x 9 3H22(H,
0°<x<90°)

@® 0° @ 30° @ 45° @ 60° ® 90°



20. o= 1E% 2

T E S

29 35 Gl
TEQ HAolk the F 97 2L ALY

® AB//CD @ /BAT = /CDT
® TA:TB=TC:TD @ /ABT = /ATP
® AATB ~ aADTC



